EARAROBEEIERT — 2 N— IBISH —F

2018597108 (B) 7EIIIIE1H

Gl Y 7% —fx C1Xt

‘ [X1&] ‘ [RERBE] — | & (&) 14000 &

[AE<%] 17 :1,200,000 § 2 7&:456,000 F 3 7 :300,000 4

4 7% :180,000 F 5 j& : 144,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- 1R Al :31. —-3-3- . — HHBE (AfE)
i 31857 B4 few 1(3_1)6 3-3-3-2 | 40.0 3 :3_413; ﬁ?ﬁ%%i 5
LT RIAVY L= BT IvFT)—> [ ke ]
5 i 4 | REMEE 1:31.7 6-5-4-2 [39.9| — 6 455 | AMREEZ (K3#)
217|7 T—h~< 54.0 (3/4) (-9) Z2ERT
R:d—IK7Y2—J)b B:a—>K— HE77—L
-2 it o4 | BEERBA 1:32.0 5-5-5-6 | 40.0 | — 8 461 | i3 (J116)
3l7|8| Y¥=>>L—7F 54.0 (1 1/2) 0 |LHAET
L:dyp—=3U7> B:v¥v= Ity b filbabae]
S 8% LEIR : -4-5- — REEEAR (ROHE)
alglg|¥a77>>a I 1(/73%:; MR ! (fg) ampr
R:V>RYIURXIR B:vah—757h BRT 7 —L
e = s 3 | EIEFD 1:32.4 1-1-1-1 | 41.0| — 2 482 | RITIR (KH)
5111 |FATURZR 53.0 (a1/2) -8) ) P10
R:TZ2T 48— B:h=TT4—Fa1> ARSI
o S5y s 3 | mEY 1:33.2 2-2-2-2 |41.6| — 1 484 | HERKZ (1)
6810 /¥¥F/N7~ 5.0 @ 4y | 00 mmc
L:7RAFX>IEL B:O-F>F453 ERS
[RYIT, B 5 | EEfE— 1:33.4 8-8-8-8 |40.8| — 5 435 | HEIE— (1115)
715|5 | FETYNE 54.0 @ (+3) | (B) KEHEE
LihxreFx) B:xaYXe R Iif52 e ]
Q= S REHE : -8-7- = ERHPB (HF)
8 NEEROVEES i 5 Bl 1(.13/32.)5 9-8-7-8 | 41.1 9 :474) aEaz
R:TIy 84K B:val—> L b N
< IR BL5 :34. —7-8- . — SERE— (I1E)
N . BRAEORE "R R R A L e i
R:Tv GV Rry b B:ovT4H RE &R
= i 7 | BAER 1:34.6 10-10-10-10| 41.4 | — 10 | 449 |ME—H (FEf0)
1op2 | YT*¥LI17 54.0 2172 (g |BAEEES
Z:a>FaMdy b B:vA x> AXRETa—T7—L4L
® 1—F—@EBIERL
13—7+— 1,10,3,9,8,7,4,5,6,2
239—7#— |1,10,3,9,(7,8),4,(5,6),2
33—7+— |[1,10,3,7,(8,9),6,(4,5),2
43—+ — 1,(3,7,10),9, (4,8),(5,6) ,2
[ N5
B 3 500 714K 3-7 1,190H e E 3-7 2,710 JEE 3-7-8 31,270
B B 3 180H4 3-8 1,650 e B 3-7 4,280M JEE 3-7-8 117,110H
7 400/ 7-8 2,740 B & 3-7 3,160M
8 600M B H 3-7 7,290

ABICOVWTRDTEEERROODE. TR LIV,




